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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 12 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 (IÊS> - "A')
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 What are non-classical carbonium ions? Give Examples?

		  Zm°Z ³bm{gH$b H$m~m}{Z¶‘ Am¶Z ³¶m hmoVo h¢? CXmhaU Xr{OE?

	 (ii)	 Write the structure of singlet and triplet carbene and 

nitrene.

		  qgJboQ> d {Q´>nboQ> H$m~uZ VWm ZmBQ´>rZ H$s ga§MZm {b{IE&

	 (iii)	 How the polarity of solvent effect rate of substitution.

		  {dbm¶H$ H$s Y«wdVm à{VñWmnZ A{^{H«$¶mAm| Ho$ doJ H$mo H¡$go à^m{dV 
H$aVm h¡?

	 (iv)	 What are the various types of the internal strain in a 

molecule?

		  {H$gr AUw Ho$ AmÝV[aH$ {dH¥${V Ho$ àH$ma ³¶m h¢?

	 (v)	 Draw two different chair conformations of cyclohexanol 

showing all hydrogen atoms.

		  gmB³bmoho³goZm°b Ho$ g^r hmB©S´>moOZm| H$mo Xem©Vo hþE Xmo {^ÝZ Hw$gu 
g§ê$nU ~ZmB¶o&

	 (vi)	 What is Norrish type I process?

		  Zm°[ae àH$ma -I {d{Y ³¶m hmoVr h¡?

	 (vii)	Define quantum yield.

		  ³dmÝQ>‘r bpãY H$mo n[a^m{fV H$s{OE&

	 (viii)	What are electrocyclic reactions?

		  Bbo³Q´>moMH«$s¶ A{^{H«$¶m¶| ³¶m hmoVr h¢?
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	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 (i)	 Explain the relative stability order of free radicals.

		  ‘y³V ‘ybH$m| Ho$ Amno{jH$ ñWm{¶Ëd H$m H«$‘ g‘PmB¶o&

	 (ii)	� Give one elimination and substitution reaction involving 

carbanions.

		�  H$m~©{Z¶Z H$mo em{‘b H$aVo hþE EH$ EH$ {dbmonZ VWm à{VñWmnZ 
A{^{H«$¶m Xr{OE&

3)	 What is migratory aptitude? Discuss its significance taking the 

example of pinacol-pinacolone rearrangement.

	 A{^Jm‘r A{^d¥{Îm ³¶m h¡? {nZ¡H$m°b-{nZ¡H$mobm°Z nwZ{n©Ý¶mg H$m CXmhaU 
boVo hþE BgH$m ‘hÎd ~VmBE&

4)	 Discuss elimination reaction versus substitution reaction.

	 {dbmonZ A{^{H«$¶m ~Zm‘ à{VñWmnZ A{^{H«$¶m H$m dU©Z H$s{OE&

5)	 Explain fluxional tautomerism.

	 âb¡³eZb Mbmd¶dVm g‘PmB¶o&

6)	 Explain photodimerization of ∞, β unsaturated ketones.

	 α, β Ag§V¥ßV H$sQ>m°Zm| H$m àH$me {ÛbH$sH$aU g‘PmB¶o&
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7)	 Describe applications of photo chemical addition reaction of 

aromatic compounds.

	 Eamo‘¡{Q>H$ ¶mo{JH$m| Ho$ àH$meamgm¶{ZH$ ¶moJmË‘H$ A{^{H«$¶mAm| Ho$ AZwà¶moJm| 
H$m dU©Z H$s{OE&

8)	 Explain conformational effects in six membered rings containing 

unsaturation.

	 Ag§V¥ßV N>… gXñ¶ db¶m| ‘o g§ê$nr¶ à^md H$mo g‘PmBE&

9)	 Discuss the various conformation of disubstituted cyclohexane.

	 {Ûà{VñWm{nV gmB³bmoho³goZ Ho$ g§ê$nUm| H$m dU©Z H$s{OE&

	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Explain the following :

	 (a)	 Curtin Hammett principle

	 (b)	 Conformation of common sugars.

	 {ZåZ{b{IV H$mo g‘PmB¶o …
	 (A)	H${Q>©Z h¡‘Q²>Q> {gÕmÝV&
	 (~)	gm‘mÝ¶ eH©$am Ho$ g§ê$nU&
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11)	 Give mechanism of the following :

	 (a)	 Barton’s reaction.

	 (b)	 Photo fries rearrangement.

	 (c)	 Photosensitized isomerization.

	 {ZåZ{b{IV H$s {H«$¶m{d{Y Xr{OE …
	 (A)	~mQ>©Z A{^{H«$¶m&
	 (~)	’$moQ>mo-’«$sµO nwZ{d©Ý¶mg&
	 (H$)	àH$me gwJ«mhrH$maH$ g‘md¶dVm&

12)	 Explain the FMO method of analyzing pericyclic reaction.

	 FMO {d{K Ûmam noarMH«$s¶ A{^{H«$¶mAm| H$m {díbofU g‘PmBE&

13)	 Write Short notes on :

	 (a)	 Curtiees rearrangment.

	 (b)	 Fovorskii rearrangement.

	 (c)	 Formation of arynes.

	 (d)	 Hofmann rearrangment.

	 {ZåZ{b{IV na g§{jßV {Q>ßnUr {b{IE …
	 (A)	H${Q>©¶g nwZ{d©Ý¶mg&
	 (~)	’o$dañH$s nwZ{d©Ý¶mg&
	 (H$)	EamBZm| H$m ~ZZm&
	 (S>)	hm°’$‘mZ nwZ{d©Ý¶mg&


